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fact(int n) {

int product = 1;

for (int i = 1; i <= n; i++)
product *= i;

return product;

*coef (int n) {
if (n < 0)
return NULL;
int *result = (int *)malloc(sizeof (int) * (n + 1));
for (int i = 0; i <= n; i++)
result[i] = fact(n) / (fact(i) * fact(n - i));

return result;

readdata(char *fname, int d[]) {
FILE *fp = fopen(fname, "w");
if (fp == NULL)
return 0;
int n = 0;
for (; n < 100 && fscanf(fp, "%d", d + n) == 1; n++);

fclose(fp);



return n;
}
int median(int d[], int n) {
for (int i = 0; i < n - 1; i++) {
for (int j = 0; j <n -1 - i; j++) {
if (d[3j1 > d[j + 11) {
int tmp = d[J];
d[j] = d[J + 1];
d[j + 1] = tmp;

}
return n ¢ 2 2 d[n / 2] : (d[n / 2 - 1] + d[n / 2]) / 2;

while (slen = strlen(str)) {
struct dict *new node = malloc(sizeof(struct dict));
new node->entry = malloc(sizeof (char) * (slen + 1));
new node->next = NULL;
strcpy(new_node->entry, str);
head = sortdict(head, new_node);

gets(str);

struct dict *sortdict(struct dict *head, struct dict *ps) {
struct dict *previous = NULL;

struct dict *current = head;

for (; current != NULL && strcmp(current->entry, ps->entry) < 0;)
{
previous = current;
current = current->next;
}
if (previous == NULL)

return ps;
ps—->next = current;

previous->next = ps;



return head;

void printdict(struct dict *head) {
for (; head != NULL; head = head->next) {

printf("%s\n", head->entry);

}
/* FEASEHA, XEXRERNENERNAE, BN printdict REEREIEMERIRER
for (; head != NULL;) {
struct dict *tmp = head;
head = head->next;
free(tmp);
}
*/
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